

N/A Ship to:

**RDO Equipment Co.** PO Box 604 5625 Highway 200W Hazen, ND 58545 701-748-2708 Fax: 701-748-2718

For Billing Inquiries or to receive invoices via E-mail or MyDealer website, please contact RDOAR@rdoequipment.com

**Branch** 

HAZEN, ND

\*REPRINT\*

Date 01/28/21

Time 21:10:32 (B) Page 0Ĭ

Account No. 6300068

Phone No. 7017486300 Invoice No. W1591959

Ship Via

**Purchase Order** 

**Federal ID Number** 

**Tax Exemption Number** 

Salesperson CF4

#### SERVICE INVOICE

STK#/FLEET#

X535215

Invoice to:

AIR SEEDERS

HRS PIN/EIN 1A81895XJDH755154

WARRANTY DATE

04/02/15

HRS

1895

WAYNE CLARK

1270 50TH AVE SW

HAZEN ND 58545-9697

\* We're offering parts, services & sales during restrictions.

13013

\*\* View your invoices and buy parts online at RDOequipment.com/mydealer Create your free account today.

SEGMENT# 1 C MXU01 RDO-900-010 12/29/20 12/29/20 MACHINE INSPECTION - AIR CART AND NO-TILL DRILL

Learn more at RDOequipment.com/COVID-19

CONDITION:

Inspection.

CAUSE:

Customer request.

**CORRECTION:** 

Inspected machine. Created estimate and discussed with

customer for approval.

PROMOAG labor discount

571.00 PARTS

LABOR SEGMENT TOTAL ==>

571.00-870.00 299.00

571.00-

SEGMENT# 2 C MXU01 10-210-030 OPENER DISK, REMOVE AND REPLACE

01/04/21 01/04/21

CONDITION:

Worn disks.

10404099

CAUSE:

Normal wear.

**CORRECTION:** 

Removed gauge wheels, removed disk, installed new disk and reinstalled gauge wheel. Replaced hardware as needed.

Replace worn gauge wheels as needed.

CONTINUED ON PAGE 02



N/A Ship to:

**RDO Equipment Co.** PO Box 604 5625 Highway 200W Hazen, ND 58545 701-748-2708 Fax: 701-748-2718

For Billing Inquiries or to receive invoices via E-mail or MyDealer website, please contact RDOAR@rdoequipment.com

**Branch** HAZEN, ND

Date Page 01/28/21 21:10:32 (B)

Account No. Phone No. invoice No. 6300068 7017486300 W1591959

Ship Via **Purchase Order** 

**Tax Exemption Number Federal ID Number** 

> Salesperson CF4

WAYNE CLARK Invoice to:

1270 50TH AVE SW HAZEN ND 58545-9697

## SERVICE INVOICE

STK#/FLEET# HRS PIN/EIN WARRANTY DATE HRS

X535215 13013 1A81895XJDH755154 04/02/15 AIR SEEDERS

1895

Install disks on back row of center frame. (KK)

ADDITIONAL DESCRIPTION:

Remove and replace mi	ddle and rear gang disks.	Remove and		
replace gauge wheels	as needed.			
AA66604	WHEEL	42 O	90.41	3797.22
AA96548	Bearing	2	22.42	44.84
AA98187	Wheel	3	143.99	431.97
A107506	WASHER	1 0	1.18	1.18
A58876	BRUSH	6	14.82	88.92
E55662	FLANGE NUT	11	1.01	11.11
N282625	CAP SCREW	1	2.52	2.52
N283308	SELF-LOCKI	28	1.33	37.24
Self-	Locking Screw			
N283804	DISK	52	30.28	1574.56
N283976	NUT	38	1.56	59.28
N284055	LEAF SPRIN	1	4.48	4.48
N284086	SPACER	2	11.42	22.84
TY6341	GREASE	1	4.35	4.35
			PARTS	6080.51
			LABOR	2714.40
10404099		SEGMENT	TOTAL==>	8794.91

01/04/21 01/04/21 SEGMENT# 3 C MXU01 10-210-030

OPENER DISK, REMOVE AND REPLACE

**CONDITION:** 

Worn disks.

CAUSE:

Normal wear.

**CORRECTION:** 

Removed gauge wheel. Removed fertilizer tube. Removed and

CONTINUED ON PAGE 03



RDO Equipment Co. PO Box 604 5625 Highway 200W Hazen, ND 58545 701-748-2708 Fax: 701-748-2718 For Billing Inquiries or to receive invoices via E-mail or MyDealer website, please contact RDOAR@rdoequipment.com

Branch

HAZEN, ND

 Date
 Time
 Page

 01/28/21
 21:10:32 (B)
 03

 Account No.
 Phone No.
 Invoice No.

 6300068
 7017486300
 W1591959

Ship Via Purchase Order

Tax Exemption Number Federal ID Number

Salesperson CF4

Invoice to: WAYNE CLARK

1270 50TH AVE SW HAZEN ND 58545-9697

SERVICE INVOICE

STK#/FLEET# HRS PIN/EIN WARRANTY DATE HRS

X535215 AIR SEEDERS 13013 1A81895XJDH755154 04/02/15

1895

replaced disk. Installed tube and gauge wheel. Replaced

hardware and gauge wheels as needed.

ADDITIONAL DESCRIPTION:

Remove and replace front gang opener disks. Replace gauge

wheels as needed.

+Assist:KK501 91 minutes

AA66604	WHEEL	6 0	90.41	542.46
A107506	WASHER	10 0	1.18	11.80
M86436	TIE BAND	6	.52	3.12
N283804	DISK	26	30.28	787.28
R44302	TIE BAND	6	.15	.90
TY27167	Tube	1	13.39	13.39
03H2O7O	BOLT	10 0	1.18	11.80
			PARTS	1370.75
			LABOR	1357.20
10404099		SEGMENT T	TOTAL==>	2727.95

SEGMENT# 4 C MXU01 RDO-200-011 01/04/21 01/04/21

SEED BOOT STRAPS, R&R

CONDITION:

Worn straps. Retainer nuts and bolts rusted.

CAUSE:

Normal wear.

**CORRECTION:** 

Removed and replaced seed boot straps. Replaced most

retainer nuts and bolts.

ADDITIONAL DESCRIPTION:

Remove and reinstall fifty two straps

 N219982
 STRAP
 52
 2.69
 139.88

 N283308
 SELF-LOCKI
 10
 1.33
 13.30



RDO Equipment Co. PO Box 604 5625 Highway 200W Hazen, ND 58545 701-748-2708 Fax: 701-748-2718 For Billing Inquiries or to receive invoices via E-mail or MyDealer website, please contact RDOAR@rdoequipment.com

Branch HAZEN, ND

 Date
 Time
 Page

 01/28/21
 21:10:32 (B)
 04

 Account No.
 Phone No.
 Invoice No.

 6300068
 7017486300
 W1591959

Ship Via Purchase Order

Tax Exemption Number Federal ID Number

Salesperson CF4

Invoice to: WAYNE CLARK

1270 50TH AVE SW HAZEN ND 58545-9697

SERVICE INVOICE

STK#/FLEET# HRS PIN/EIN WARRANTY DATE HRS

X535215 AIR SEEDERS 13013 1A81895XJDH755154 04/02/15

1895

Self-Locking Screw

N283995 SPRING 1 10.10 10.10 PARTS 163.28

LABOR 435.00

10404099 SEGMENT TOTAL=> 598.28

SEGMENT# 5 C MXU01 10-200-010 01/04/21 01/04/21

R&R SEED DEFLECTOR BOOT

CONDITION:

Broken boot.

CAUSE:

Normal wear.

**CORRECTION:** 

Removed seed tube and hose. Removed boot. Replaced with

new boot and reattached seed tube and hose.

ADDITIONAL DESCRIPTION:

Remove seed tube.

Remove seed deflector boot.

Ensure new deflector boot has leaf spring installed.

Install new deflector boot in previously removed position.

Install seed tube.

A99749 Bolt 3 1.22 3.66 N284024 SEED BOOT 1 0 83.84 83.84 N284025 SEED BOOT 2 83.84 167.68 N284055 LEAF SPRIN 1 4.48 4.48 259.66 PARTS LABOR 174.00 10404099 433.66 SEGMENT TOTAL==>

SEGMENT# 6 C MXU01 10-200-020

01/04/21 01/04/21



RDO Equipment Co. PO Box 604 5625 Highway 200W Hazen, ND 58545 701-748-2708 Fax: 701-748-2718 For Billing Inquiries or to receive invoices via E-mail or MyDealer website, please contact RDOAR@rdoequipment.com

Branch HAZEN, ND

 Date
 Time
 Page

 01/28/21
 21:10:32 (B)
 05

 Account No.
 Phone No.
 Invoice No.

 6300068
 7017486300
 W1591959

Ship Via Purchase Order

Tax Exemption Number Federal ID Number

Salesperson CF4

Invoice to: WAYNE CLARK

1270 50TH AVE SW HAZEN ND 58545-9697

## SERVICE INVOICE

STK#/FLEET# HRS PIN/EIN WARRANTY DATE HRS

X535215 AIR SEEDERS 13013 1A81895XJDH755154 04/02/15

1895

R&R SFP BOOT

CONDITION:

Worn boots.

CAUSE:

Normal wear.

**CORRECTION:** 

Removed retaining bolt. Removed boot. Removed NH3 tube from old boot. Reinstalled tube on new boot with new hardware as needed. Reinstalled boot and retaining bolt.

ADDITIONAL DESCRIPTION:

Loosen spring bolt.

Remove SFP boot.

Install new SFP boot.

Tighten spring bolt to compress spring to a compressed

width of 21mm (1316).

AA54445	1"air seeder	3	2.02	6.06
AA54446	2.5 green	20	6.10	122.00
AA58206	1.25 green	6	4.87	29.22
A87734	SCRAPER	13	90.60	1177.80
A87735	SCRAPER	13	90.55	1177.15
EVA050	HOSE	14	.71	9.94
HARD	BULK HARDWARE	2	5.94	11.88
			PARTS	2534.05
			LABOR	1131.00
10404099		SEGMENT	TOTAL==>	3665.05

SEGMENT# 7 C MXU01 10-120-010 01/04/21 01/04/21

CLOSING OR PRESS WHEEL ARM AND SPRING, R&R

CONDITION:

Broken springs.

CONTINUED ON PAGE 06



RDO Equipment Co. PO Box 604 5625 Highway 200W Hazen, ND 58545 701-748-2708 Fax: 701-748-2718 For Billing Inquiries or to receive invoices via E-mail or MyDealer website, please contact RDOAR@rdoequipment.com

Branch HAZEN, ND

 Date
 Time
 Page

 01/28/21
 21:10:32 (B)
 06

**Account No. Phone No. Invoice No.** 6300068 7017486300 W1591959

Ship Via Purchase Order

Tax Exemption Number Federal ID Number

Salesperson CF4

Invoice to: WAYNE CLARK

1270 50TH AVE SW HAZEN ND 58545-9697

## SERVICE INVOICE

STK#/FLEET# HRS PIN/EIN WARRANTY DATE HRS

X535215 AIR SEEDERS 13013 1A81895XJDH755154 04/02/15

1895

CAUSE:

Normal wear.

**CORRECTION:** 

Install closing wheel arm springs that were broken, could

not reach one opener on 1h side. (KK)

ADDITIONAL DESCRIPTION:

Remove and install arm, install new spring, set spring

tension.

+Assist:KK501 75 minutes +Assist:KK501 120 minutes

N283994 SPRING 8 10.10 80.80 N283995 SPRING 7 10.10 70.70 PARTS 151.50 LABOR 522.00

10404099 SEGMENT TOTAL==> 673.50

SEGMENT# 8 C MXU01 RDO-080-012 01/04/21 01/04/21

CLOSING WHEEL BEARING R&R

CONDITION:

Frozen closing wheel.

CAUSE:

Normal wear.

**CORRECTION:** 

Removed wheel. Removed and replaced bearing and installed

wheel.

 K40015
 LOCK NUT
 2
 1.67
 3.34

 19H3306
 CAP SCREW
 2
 11.32
 22.64

 PARTS
 25.98

LABOR 203.00

10404099 SEGMENT TOTAL==> 228.98



WAYNE CLARK

1270 50TH AVE SW

HAZEN ND 58545-9697

Ship to: N/A

RDO Equipment Co. PO Box 604 5625 Highway 200W Hazen, ND 58545 701-748-2708 Fax: 701-748-2718 For Billing Inquiries or to receive invoices via E-mail or MyDealer website, please contact RDOAR@rdoequipment.com

Branch

HAZEN, ND

**Date** Time 01/28/21 21:10:32 (B)

Page

**Account No.** 6300068

**Phone No.** 7017486300

Invoice No. W1591959

Ship Via

Purchase Order

**Tax Exemption Number** 

Federal ID Number

Salesperson CF4

# SERVICE INVOICE

STK#/FLEET#

Invoice to:

HRS

PIN/EIN

WARRANTY DATE

HRS

X535215

AIR SEEDERS 1895

13013 1A81895XJDH755154

04/02/15

RS

\_\_\_\_\_

SEGMENT# 9 C MXU01 MISC

01/04/21 01/04/21

Replace gauge wheel adjustment shaft.

**CONDITION:** 

Frozen shaft.

CAUSE:

Normal wear.

**CORRECTION:** 

Shaft froze, remove zerk and adjust arm, work shaft to get somewhat loose, use air hammer to gat shaft out, clean up spindle, install new shaft and adjust arm, assemble boot.

(KK)

ADDITIONAL DESCRIPTION:

+Assist:KK501 60 minutes

AA92485 Arm 1 68.11 68.11 JD7844 LUBRICATIO 1 1.39 1.39

Lubrication Fitting

PARTS 69.50 LABOR 150.80 SEGMENT TOTAL==> 220.30

\_\_\_\_\_

01/04/21 01/04/21

Misc Repairs

**CONDITION:** 

10404099

Replace broken orange lights. - Cart

Replace/repair RH red and orange lights/bulbs. Drill

Replace short 1" hose.

SEGMENT#10 C MXU01 MISC

Replace rusted Z tube.

Reconnect two NH3 hoses.

CAUSE:

CONTINUED ON PAGE 08



RDO Equipment Co. PO Box 604 5625 Highway 200W Hazen, ND 58545 701-748-2708 Fax: 701-748-2718 For Billing Inquiries or to receive invoices via E-mail or MyDealer website, please contact RDOAR@rdoequipment.com

Branch HAZEN, ND

 Date
 Time
 Page

 01/28/21
 21:10:32 (B)
 08

**Account No. Phone No. Invoice No.** 6300068 7017486300 W1591959

Ship Via Purchase Order

Tax Exemption Number Federal ID Number

Salesperson CF4

Invoice to: WAYNE CLARK

1270 50TH AVE SW HAZEN ND 58545-9697

## SERVICE INVOICE

STK#/FLEET# HRS PIN/EIN WARRANTY DATE HRS

X535215 AIR SEEDERS 13013 1A81895XJDH755154 04/02/15

1895

Normal wear.

**CORRECTION:** 

Install 2 closing wheel bolts that were bent, had to cut one off to get out. Diagnose light on seeder, determined that a good portion of the harness missing, was able to route harness to get hooked up and spliced wires together, install new lamp on cart as well, run and check operations. (KK)

Removed and replaced damaged hoses.

Replaced frozen up chain on front meter box drive.

ADDITIONAL DESCRIPTION:

Replace broken orange lights. - Cart

Replace/repair RH red and orange lights/bulbs. Drill

Replace short 1" hose.

Replace rusted Z tube.

Reconnect two NH3 hoses.

Tie up electrical harnesses above beams.

+Assist:KK501 142 minutes

AA54445	1"air seeder	10	2.02	20.20
AA56281	LAMP	1	34.93	34.93
A65218	LENS	1 M	9.70	9.70
A65348	TUBE	1 N	239.09	239.09
SW40COUS	CHAIN LINK	1	2.12	2.12
SW40X50US	ROLLER CHAIN	2	6.62	13.24
TY22472	CLAMP SAE44	1	1.50	1.50
			PARTS	320.78
			LABOR	350.90
10404099		SEGMENT	TOTAL==>	671.68

SEGMENT#11 C MXU01 RDO-171-068 01/04/21 01/04/21



N/A Ship to:

**RDO Equipment Co.** PO Box 604 5625 Highway 200W Hazen, ND 58545 701-748-2708 Fax: 701-748-2718

For Billing Inquiries or to receive invoices via E-mail or MyDealer website, please contact RDOAR@rdoequipment.com

**Branch** 

HAZEN, ND

Date Time 01/28/21 21:10:32 (B)

Account No. Phone No. Invoice No. 6300068 7017486300 W1591959

Ship Via **Purchase Order** 

**Tax Exemption Number Federal ID Number** 

> Salesperson CF4

Page

WAYNE CLARK Invoice to:

1270 50TH AVE SW HAZEN ND 58545-9697

SERVICE INVOICE

STK#/FLEET# HRS PIN/EIN WARRANTY DATE

X535215

AIR SEEDERS

1A81895XJDH755154 13013

04/02/15

HRS

1895

FRONT METER ROLL ASSEMBLY, R&R

**CORRECTION:** 

866000

Assemble green meter roller, install new end caps on meters

and install new brushes. (KK)

ADDITIONAL DESCRIPTION:

Replace worn bearing and other parts an needed.

+Assist:KK501 120 minutes

AA96548 22.42 89.68 Bearing A59755 2 INSERT 8.42 16.84 BA29095 METER ROLL 1 M 1571.90 1571.90 PARTS 1678.42 LABOR 725.00 10404099 SEGMENT TOTAL ==> 2403.42

\*\*\*\*\* WORK ORDER TOTALS \*\*\*\*\*

PARTS 12083.43 8633.30 LABOR SUB TOTAL ==> 20716.73 ND STATE TAX 5% .87 20717.60 TOTAL MULTI-USE CHG

This purchase(s) is subject to the terms of the Multi-Use Account, a service of John Deere Financial, f.s.b. I grant the issuer a purchase money security interest, except as limited in that agreement, in the goods described.

PLEASE REMIT TO: JOHN DEERE FINANCIAL

1240538142

CONTINUED ON PAGE 10



RDO Equipment Co. PO Box 604 5625 Highway 200W Hazen, ND 58545 701-748-2708

Fax: 701-748-2718

For Billing Inquiries or to receive invoices via E-mail or MyDealer website, please contact RDOAR@rdoequipment.com

Branch HAZEN, ND

 Date
 Time
 Page

 01/28/21
 21:10:32 (B)
 10

 Account No.
 Phone No.
 Invoice No.

 6300068
 7017486300
 W1591959

Ship Via Purchase Order

Tax Exemption Number Federal ID Number

Salesperson CF4

Invoice to: WAYNE CLARK

WAYNE CLARK

1270 50TH AVE SW HAZEN ND 58545-9697

## SERVICE INVOICE

STK#/FLEET#

X535215

AIR SEEDERS

HRS PIN/EIN W. 13013 1A81895XJDH755154

WARRANTY DATE

04/02/15

HRS

1895

P.O. BOX 4450

CAROL STREAM, IL 60197-4450

\*